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RECAP

¢ Add and subtract numhbers with up to 4 digits using the formal written methods of column

 Estimate and use inverse operations to check answers to- a calculation.

MATHS- ADDITION AND SUBTRACTION
YEARS

addition and subtroction where appropriate.

 Solve addition and subtraction two step problems in contexts.

CRUCIAL KNOWLEDGE

Add and subtract numhbers mentally with increasing large numbers.
Add and subtract whole numbers with more than 4 dig-its including
using formal written methods (column addition and subtroction)

Use rounding to check answers to calculations and determine, in the
context of the problem, levels of accwracy.
Solve addition and subtraction multi-step problems in contexts,

EXTENDED KNOWLEDGE

* Use inverse operations to solve a range of problems.

Inverse Operations
This can mean the opposite reversing.

The inverse of addition is subtraction.

The inverse of subtraction is addition.
17,422 + 5 = 17,427 17,427 - 5= 17,422
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The column method can be an efficient method for Not completely accurate, but close enough to be used. Working in a way without wasting time.
The mathematical operation to find the sum of two or more numbers. addition and subtraction calculations.
" 18,000 + 400 =
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Subtraction is reducing one number by another. The number 2,104 contains O tens. We still need to put O to hold s ot o"e ™ _
the tens place, otherwise the number would look like 214. A The numbér 82 train can hold 3,233 passengers = @
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= Finding a value (number) that is close to the right answer.

KEY VOCABULARY

We can use compensation and adjustment to solve calculations where the number is close
to a whole number such as 100 or 1,000.

8,254 + 99 = 8,353

We

To add 99, we can add 100 and subtract 1

8,254 + 100 = 8,354

Equals means the same amount.

The symbol shows that two expressions or two values
are equal.

-
——

Compensation and adjustment

know that 100 - 1 =99

8,354 - 1=8,353

12,914-999 = 11,915
We know that 1,000 - 1 =999
To subtract 999, we can subtract 1,000 and add 1
12,914 - 1,000 = 11,914
11,914 +1=11,915

A reasonable guess. A calculation can also be involved.

304 +
P

443=7

In multi-step word problems, there may be two or more
operations, and you must solve them in the correct order to get a
correct answer.

The total after adding 2 or more numbers.

The sum of 245 and 14,000 is 14,245.

603 =
P
300 4 600 3
300 + 600 = 900

900 + 7 = 907

Partitioning

We can use partitioning to add and subtract amounts that are not multiples of 10.

8,060 - 2,010 =
S
8,000 60 2,000 10
8,000 - 2,000 = 6,000
60-10=50
6,000 - 50 = 6,050

Bar models

Using bar models to compare addition
calculations can help to find the missing

number.
667 +253 =467+ |
| 667 [ 253 |
[ 467 [ 453 ]

The first part is 200 less, so the second
part must be 200 more.



